Lecture data

If we have the following:

an n-element unit vector 
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 a standard deviation vector of
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An asset return vector of
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The correlation between assets is 
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Then the variance covariance matrix is 
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Then 
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Which are scalars.

However I am unclear as to how 
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 have been calculated. I know what the two vectors and the inverse covariance variance matrix are but please could you clarify the operations required to compute into a single number by doing the below ones?
Thanks. 
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Assignment data
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Correlation structure
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Covariance matrix


[image: image16.wmf]0.00490.00170.00630.0055

0.00170.01440.01510.0125

0.00630.01510.03240.0421

0.00550.01250.4210.0676

SRS

æö

ç÷

ç÷

S==

ç÷

ç÷

èø



[image: image17.wmf]1

1

1

11

1

T

T

T

m

mm

-

-

-

S=

S=

S=


_1281280880.unknown

_1281281985.unknown

_1281328993.unknown

_1281369944.unknown

_1281376254.unknown

_1281284389.unknown

_1281284423.unknown

_1281284261.unknown

_1281280914.unknown

_1281280921.unknown

_1281280407.unknown

_1281280444.unknown

_1281280634.unknown

_1281201621.unknown

_1281280243.unknown

_1281199048.unknown

